www.atp-czesci.pl o
Czesci do ekspresow

LA PICCOLA

This catalogue is automatically generated.
Therefore, the sequence of the items might
not be always shown at best.

Updates will be issued in case of additions
and/or amendments.

Suitable universal spare parts may not be included




g/ , LA PICCOLA Sl

GroUp,

COFFEE MACHINE MOD. CECILIA

CECILIA

? 51580 49

i—52

7778 7980 &1 82

Positions without LF code no.: upon request




977 ¢

4 ar% b — @
LA PICCOLA 4
Position LF code no. Description
1 1449500 PTFE PIPE @ 2x4 mm - 10 m
2 1349013 L-FITTING & 1/8"M-1/8"M NICKEL-PLATED
3 1120233 3-WAY SOLENOID VALVE CEME g 1/8"F 230V
5 1528043 CYLINDER HEAD SCREW M6x30
6 1528043 CYLINDER HEAD SCREW M6x30
8 5034989 CYLINDER HEAD SCREW M4x8
9 1443005 CONTACT THERMOSTAT 98°C M4
9 1443072 CONTACT THERMOSTAT 104°C M4 16A 250V
9 1444003 CONTACT THERMOSTAT 95°C M4
10 1444206 CONTACT THERMOSTAT 145°C M4
12 1186458 RED SILICONE RING 03050
13 1510013 BREW GROUP SPRAY NOZZLE M30x1,5 H26,5
14 1786330 GASKET OR 0114 VITON GREEN
16 1786140 0-RING 0147 RED SILICONE
17 1081077 SHOWER SCREEN g 55 mm TY38
17 1081081 SHOWER SCREEN g 55 mm TY1
18 1022115 SINGLE SPOUT @ 8 mm
23 1449500 PTFE PIPE ¢ 2x4 mm - 10 m
24 1324185
25 1186458 RED SILICONE RING 03050
28 1755306 CARTRIDGE HEATING ELEMENT700W 230V
28 1755307 CARTRIDGE HEATING ELEMENT600W 230V
28 1755308 CARTRIDGE HEATING ELEMENT500W 230V
28 1755309 CARTRIDGE HEATING ELEMENT400W 230V
30 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
30 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
30 1122746 VIBRATORY PUMP EX4 48W 230V 50Hz
33 1086056 SHOWER HOLDER DIFFUSER
36 1391001 SUPPORT WIRE
37 1449681 SILICONE HOSE @ 4x7 SHORE 60 -5 m
58 1680035 WATER CONTAINER 9 L
75 3319016 BIPOLAR SWITCH RED 16A 250V
77 3319016 BIPOLAR SWITCH RED 16A 250V
79 1319604 BLACK BIPOLAR SWITCH 16A 250V
80 1319613 RED BIPOLAR SWITCH 16A 250V
96 1320801 PRESSURE SWITCH P203T02 2-POLES 20A 1/4"
97 1450012 LEVEL PROBE @ 1/4"M-190 mm
98 5067637 LEVEL PROBE @ 1/4"M-167 mm
99 1515009 VALVE FOR BOILER @ 3/8"M
100 1523534 BOILER VALVE g 1/4"M
101 1444206 CONTACT THERMOSTAT 145°C M4
106 1186179 PTFE FLAT GASKET @ 57x43x3 mm
107 1755285 HEATING ELEMENT 1600W 230V
107 1755607 HEATING ELEMENT 1200W 110V
110 1349243 "T" FITTING o 1/4"F-1/4"F-1/4"M
118 1331037 VIBRATORY PUMP EP8 26W 230/240V 50Hz
125 1391001 SUPPORT WIRE
200 3092250 SCALE REMOVER AXOR RIO 250 ml




& LA PICCOLA U

GroUp,

COFFEE MACHINE MOD. PICCOLA

PICCOLA-PERLA-GOLD

1112 1314 1516 17 18

DECALCIFICANTE
SCALE REMONER
DESINCRUSTANTE

Positions without LF code no.: upon request




LA PICCOLA ~ 5
GroUD, 4
Position LF code no. Description
2 1120233 3-WAY SOLENOID VALVE CEME @ 1/8"F 230V
3 3349318 NICHEL-PLATED FITTING g 1/8"M-1/8"M
4 1443005 CONTACT THERMOSTAT 98°C M4
4 1443072 CONTACT THERMOSTAT 104°C M4 16A 250V
4 1444003 CONTACT THERMOSTAT 95°C M4
5 1444206 CONTACT THERMOSTAT 145°C M4
9 1510012 BREW GROUP SPRAY NOZZLE g14mm M8x1,5 H23
10 1449500 PTFE PIPE @ 2x4 mm - 10 m
11 1755306 CARTRIDGE HEATING ELEMENT700W 230V
11 1755307 CARTRIDGE HEATING ELEMENT600W 230V
11 1755308 CARTRIDGE HEATING ELEMENT500W 230V
11 1755309 CARTRIDGE HEATING ELEMENT400W 230V
12 1449681 SILICONE HOSE @ 4x7 SHORE 60 - 5 m
15 1186458 RED SILICONE RING 03050
16 1324184
17 1186612 O-RING 02025 VITON
18 1786330 GASKET OR 0114 VITON GREEN
20 1786140 0-RING 0147 RED SILICONE
21 1081077 SHOWER SCREEN @ 55 mm TY38
21 1081081 SHOWER SCREEN @ 55 mm TY1
23 1086056 SHOWER HOLDER DIFFUSER
30 1022115 SINGLE SPOUT @ 8 mm
49 1160103 WATER-DRAWING FILTER
50 1680034 WATER CONTAINER 1 L OF GLASS
52 1319708 BIPOLAR SWITCH RED 16A 250V
54 1319704 BIPOLAR SWITCH BLACK 16A 250V
56 1391001 SUPPORT WIRE
57 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
57 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
57 1122746 VIBRATORY PUMP EX4 48W 230V 50Hz
100 3092250 SCALE REMOVER AXOR RIO 250 ml




& LA PICCOLA U

GroUp,

COFFEE MACHINE MOD. SARA

~ a2
._ 44 45 48 47 48 49
23 24 25 26 2728 g

70 71 72

67 65 66

SCALE REMOVER
DESINCRUSTANTE
HESSELSTENLOSEMITTEL

97 98 99 100

Positions without LF code no.: upon request



LA PICCOLA %,2@
@
Position LF code no. Description

2 1786140 0-RING 0147 RED SILICONE

3 1081077 SHOWER SCREEN @ 55 mm TY38

3 1081081 SHOWER SCREEN g 55 mm TY1

5 1022115 SINGLE SPOUT @ 8 mm
21 1755306 CARTRIDGE HEATING ELEMENT700W 230V
21 1755307 CARTRIDGE HEATING ELEMENT600W 230V
21 1755308 CARTRIDGE HEATING ELEMENT500W 230V
21 1755309 CARTRIDGE HEATING ELEMENT400W 230V
23 1186458 RED SILICONE RING 03050
24 1324185
25 1444206 CONTACT THERMOSTAT 145°C M4
26 1443005 CONTACT THERMOSTAT 98°C M4
26 1443072 CONTACT THERMOSTAT 104°C M4 16A 250V
26 1444003 CONTACT THERMOSTAT 95°C M4
27 1349013 L-FITTING @ 1/8"M-1/8"M NICKEL-PLATED
28 1120233 3-WAY SOLENOID VALVE CEME ¢ 1/8"F 230V
30 1186458 RED SILICONE RING 03050
31 1510013 BREW GROUP SPRAY NOZZLE M30x1,5 H26,5
32 1786330 GASKET OR 0114 VITON GREEN
33 1449681 SILICONE HOSE @ 4x7 SHORE 60 - 5 m
34 1449500 PTFE PIPE @ 2x4 mm - 10 m
37 1449500 PTFE PIPE @ 2x4 mm - 10 m
47 3090132 O-RING GASKET 03050 VITON
55 1449681 SILICONE HOSE @ 4x7 SHORE 60 - 5 m
56 1160003 WATER-DRAWING FILTER
57 3010231 WATER SOFTENER FOR OCS NICAL 900
58 1680036 WATER CONTAINER
74 1319706 BIPOLAR SWITCH COMPLETE 16A 250V
75 1319706 BIPOLAR SWITCH COMPLETE 16A 250V
84 1449500 PTFE PIPE @ 2x4 mm - 10 m
85 1122601 VIBRATORY PUMP EX5 41W 120V 60Hz
85 1122735 VIBRATORY PUMP EX5 48W 230V 50Hz
85 1122746 VIBRATORY PUMP EX4 48W 230V 50Hz
86 1449681 SILICONE HOSE @ 4x7 SHORE 60 - 5 m
87 1391001 SUPPORT WIRE

200 3092250 SCALE REMOVER AXOR RIO 250 ml




/

N

\ /0
Yy LA PICCOLA
Suitable for: Suitable for:
Boiler safety valves
1523534 BOILER VALVE ¢ 1/4"M 1515009  VALVEFORBOILER ¢ 3/8"M

stainless steel - new model
internal PTFE coating - or viton

LAPICCOLA B42 LA PICCOLA B4t
Booster pumps
1330101 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT 1330102 ROTARY VANEPUMP ROTOFLOW ¢ 3/8" NPT
flange connection flange connection
flowrate 100 L/h flowrate 200 L/h
with balanced by-pass with balanced by-pass
fitting @ 3/8" conical NPT fitting @ 3/8" conical NPT
N.S.F. approved N.S.F. approved
PUMP VERSION ECO-BRASS PUMP VERSION ECO-BRASS

BRASS CW510L LEAD <=0.2% BRASS CW510L LEAD <=0.2%

LA PICCOLA LA PICCOLA
Brushes
1384023 BRUSH FOR CLEANING 50 mm 1384001 BRUSH FOR COFFEE SHOWER
LA PICCOLA LA PICCOLA
1384002 BRUSH FORMAINTENANCE 1384014  BRUSH FOR SHOWER RED

=

LA PICCOLA LAPICCOLA



LA PICCOLA %@

Suitable for: Suitable for:

Contact thermostats
1443072 CONTACT THERMOSTAT 104°C M4 16A 250V 1444206 CONTACT THERMOSTAT 145°C M4

with manual reset

Syt
LAPICCOLA C02-104 LAPICCOLA C03
1444003 CONTACT THERMOSTAT95°C M4 1443005 CONTACT THERMOSTAT 98°C M4
4 ig 1
LAPICCOLA C02-95 LA PICCOLA C02-90 LAPICCOLA C02-98
Detergents

3092250 SCALEREMOVER AXORRIO 250 ml

removes scale residues from the hydraulic

system and coffee machines boilers household

type. it does not corrode nor leaves residues

for GAGGIA-LAVAZZA-PAVONI-SGL TYPE MACHINES

MITACA-GRIMAC-RDL-SPINEL-ETC.

please see the attached documentation for use
LAPICCOLA

Filters

1160003 WATER-DRAWING FILTER 1160103  WATER-DRAWING FILTER

water-drawing tube @ 8 mm.
260 micron net

LAPICCOLA B17 LAPICCOLA B12



/

N

) | }/‘(‘
’ LA PICCOLA
Suitable for: Suitable for:
Fittings
1349243 "T"FITTING ¢ 1/4"F-1/4"F-1/4"M 1349013  L-FITTING ¢ 1/8"M-1/8"M NICKEL-PLATED
LA PICCOLA B51 LA PICCOLA B16

3349318 NICHEL-PLATED FITTING ¢ 1/8"M-1/8"M

LA PICCOLA B08

Gaskets and seals

1186179 PTFEFLAT GASKET ¢ 57x43x3 mm

for heating element

LA PICCOLA B45

Heating elements

1755309 CARTRIDGE HEATING ELEMENT400W 230V 1755308  CARTRIDGE HEATING ELEMENT500W 230V
cartridge ¢ 12,5x100 mm cartridge ¢ 12,5x100 mm
complete with indicator light complete with indicator light

LAPICCOLA C01-400/230 LA PICCOLA C01-500/230
1755307 CARTRIDGE HEATING ELEMENT600W 230V 1755306 CARTRIDGE HEATING ELEMENT700W 230V
cartridge ¢ 12,5x100 mm cartridge ¢ 12,5x100 mm
complete with indicator light complete with indicator light

\ﬁﬁ‘?

LA PICCOLA C01-600/230 LAPICCOLA C01-700/230




A
LA PICCOLA %

Suitable for: Suitable for:

1755607 HEATING ELEMENT 1200W 110V 1755285  HEATING ELEMENT 1600W 230V
immersed length 100 mm - 2 poles immersed length 95 mm - 2 poles
connection g 1"1/4 - with thermostat-holder holes connection g 1"1/4 - with thermostat-holder hole

LAPICCOLA C29-1300/110 LAPICCOLA C29-1500/230
Hydraulic piping
1449500 PTFEPIPEg 2x4 mm -10m 1449681  SILICONE HOSE ¢ 4x7 SHORE 60 -5 m
alimentary alimentary
LA PICCOLA B10 LAPICCOLA B11

Ironmongery (screws,nuts,washers)

1528049 CYLINDERHEAD SCREW M4x16 5034989  CYLINDERHEAD SCREW M4x8
stainless steel - with hexagon socket stainless steel - with hexagon socket
UNI5931-DIN 912 -1S0 4762 UNI5931-DIN912-1S0 4762

¢ head 7 mm - overall length 12 mm

LA PICCOLA EO1 LAPICCOLA E02

1528043 CYLINDERHEAD SCREW M6x30
stainless steel - with hexagon socket
UNI5931-DIN912-1S0 4762

LAPICCOLA E23

Level sensors

5067637 LEVEL PROBE @ 1/4"M-167 mm 1450012  LEVEL PROBE ¢ 1/4"M-190 mm

-— —

LA PICCOLA C23 LAPICCOLA C24



/

\\K ‘
L /(\
7 LA PICCOLA
Suitable for: Suitable for:
Nozzles for coffee groups
1510012 BREW GROUP SPRAY NOZZLE ¢14mm M8x1,5 H23 1510013 BREW GROUP SPRAY NOZZLE M30x1,5 H26,5
LA PICCOLA B04 LA PICCOLA B15
O-Ring and ORM gaskets
1786330 GASKETORO0114 VITON GREEN 3090132 O-RING GASKET 03050 VITON
LA PICCOLA B06 LA PICCOLA B25
1186612  O-RING 02025 VITON 1186458  RED SILICONE RING 03050
LA PICCOLA B05 LA PICCOLA B03

1786140 0-RING 0147 RED SILICONE

LA PICCOLA B07

Pins

1324184 PERNO A SILUROIN OTTONE ¢ 18x78 mm

per blocco caldaia ottone porta resistenza

LA PICCOLA B02




LA PICCOLA

Suitable for: Suitable for:

Pressure switches

1320801 PRESSURE SWITCH P203T02 2-POLES 20A 1/4"
CE-cURus approved
ISO 228 G connection 1/4"M for pipe ¢ 4x6 mm
adjustable scale 0.9+1.7 bar
fixed differential 0.21 (* 0.03) bar
fluid temperature max :140°C
max contact load 20A

LA PICCOLA C25

Shower screens for brew group

1081081 SHOWER SCREEN ¢ 55 mm TY1 1081077 SHOWER SCREEN ¢ 55 mm TY38
for coffee-pod "ESE" ¢ 44 mm for coffee-pod @ 38 mm
for Coffee machine (LA PICCOLA)

LAPICCOLA A07-44 LAPICCOLA A07-38

Showerholder diffusers

1086056 SHOWER HOLDER DIFFUSER

o external 55 mm - height 21 mm

LA PICCOLA A05

Solenoid valves

1120233 3-WAY SOLENOID VALVE CEME ¢ 1/8"F 230V
STAINLESS STEEL SLEEVE
5320 - outlet@ 7 mm - max 14bar
VITON seal - orifice # 1.2 mm
with coil B4 13.5VA 230V 50Hz
fluid temperature -10°C+140°C

LA PICCOLA C06-230



LA PICCOLA

Suitable for: Suitable for:

Spouts for coffee

1022115 SINGLESPOUT@8mm
total length 51 mm

LA PICCOLA A06

Switches

1319704 BIPOLARSWITCH BLACK 16A 250V 1319705

mounting hole 13x20 mm

LA PICCOLA C04 LAPICCOLA C10

BIPOLARSWITCH COMPLETE 16A 250V

for coffee brewing

1319706 BIPOLARSWITCH COMPLETE 16A 250V 1319708  BIPOLARSWITCH RED 16A 250V

for turning on/off mounting hole 13x20 mm
with indicator light

LAPICCOLA Ci1 LAPICCOLA C05

3319016 BIPOLARSWITCH RED 16A 250V 1319604 BLACK BIPOLAR SWITCH 16A 250V
16(4)A 250V - max. temperature 120°C "cup" screen printing
with indicator lamp - silk screen printing O - | mounting hole 22x30 mm
mounting hole 22x30 mm

LAPICCOLA C33 LAPICCOLA C32

1319707 PUSH-BUTTON BIPOLAR COMPLETE 16A 250V 1319613  RED BIPOLARSWITCH 16A 250V

LAPICCOLA C19 LAPICCOLA C3t

with indicator lamp
silk-screen printing "steam"
mounting hole 22x30 mm




Suitable for:

LA PICCOLA

Suitable for:

Tools

1505002 EXTRACTOR FORFILTER S.STEEL WITH HOLE

LA PICCOLA

3394906 TELESCOPICKIT ¢ 30x165 mm

extension overall length 485 mm

e

LA PICCOLA

Vibrating pumps

1391001 SUPPORT WIRE

support for pump mounting

1331037  VIBRATORY PUMP EP8 26W 230/240V 50Hz
fittings 0 1/8" - ¢ 6 mm
max.pressure 15 bar
max.water temperature 35°C
with built-in diode (1N 4007P)
connection terminal 6.3x0.8 mm
NSF approved

LAPICCOLA C30-EP8/230

1122746 VIBRATORY PUMP EX4 48W 230V 50Hz
fittings ¢ 1/8"- @ 6 mm
pressure max 18 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm

LA PICCOLA C07-EX4/230

1122601  VIBRATORY PUMP EX541W 120V 60Hz
fittings ¢ 1/8"- @ 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm
NSF-approved

-
Y,

.

LAPICCOLA CO07-EFX5/110

1122735 VIBRATORY PUMP EX548W 230V 50Hz
fittings ¢ 1/8"- @ 6 mm
pressure max 15 bar
water temperature max 20°C
integrated diode (1N 4007P)
lead connector 6.3x0.8 mm

LA PICCOLA C07-EX5/220 LA PICCOLA C07-EX5/230



(i a LA PICCOLA

Suitable for: Suitable for:
Water containers for OCS HORECA
1680036 WATERCONTAINER 1680034 WATERCONTAINER 1L OF GLASS
dimensions 190x70x255 mm dimensions 120x72x180 mm
S
Foa
'ole]
8 ;j
L
LAPICCOLA D13 LA PICCOLA D05

1680035 WATERCONTAINEROL
dimensions 290x130x265 mm

LA PICCOLA D24

Water softeners and accessories

3010231 WATERSOFTENER FOROCS NICAL 900
for water treatment for TECHNICAL purposes
DESCALING/ANTI-FOULING SYSTEM SUITABLE F/MACHINES
WITH INLET PIPES
WITH WEAK CATION-EXCHANGE RESIN
OPERATING RANGE 18°Fr 150L
OPERATING RANGE 27°Fr 100L
OPERATING RANGE 45°Fr 60L
dimensions ¢ 40,5x120 mm - from 0°C to 40°C

LA PICCOLA B53






	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

